NIT No.SPPRA Serial No.35822

Metho'd and procedure of procurement: Open Competitive Bidding (National/ International Competitive Bidding) (Single Stage-One Envelope)

Description of work: P/F 3" DIA BLACK STEEL PIPE MFG OF PUMPS

REWINDING ELECTRICAL MOTORS I/C STAR / DELTA STARTER WITH 4 CORE CABLE 16MM2 & E/M

ACCESSORIES ETC AT (I.B.PUMP HOUSE) COD HILLS

Date of Opening:

11-01-2018

BIDDERS' ELIGIBILITY/ QUALIFICATION REPORT

Eligibility/ Qualification Criteria:

		Bidders' Name			
S. No.	Eligibility / Qualification Criteria	M/s. Yasin Enterprises	M/s.Serena Enterprises		
1.	Registration with PEC (if applicable)	N/A	N/A		
2.	NTN	/ Yes	~Yes		
3.	Sales Tax Registration (FBR)	N/A	N/A		
4,	Registration with Sindh Revenue Board (SRB)	Yes	Yes		
	Qualification Criteria:				
5.	Minimum three year experience of relevant field.	Yes	Yes		
6.	Turnover of at least last three years	Yes	Yes		
7.	Required Bid Security is attached.	Yes	Yes		
8.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization letter.	Yes	Yes		
9.	Any other factor deemed to be relevant by the procuring agency subject to provision of Rule-44	N/A	N/A		
10.	Qualified/ disqualified	Qualified	Qualified		

D.A.O (C.O.D)

Member / Secretary

(Saif-ul-Haque) Additional Director Internal Audit – KMC Member (Maqsood Ahmed Shaikh) Superintending Engineer (KMC) Member

(Zahid Jamil Qureshi) S.E (C.O.D)

Member

(Saifuddin)

Director (Design & Estimate)

NIT Sr. No. SPPRA Serial No.35822

Method of Procurement: Single Stage Single Envelope.

Name of Work: P/F 3" DIA BLACK STEEL PIPE MFG OF PUMPS REWINDING ELECTRICAL MOTORS I/C STAR / DELTA STARTER WITH 4 CORE CABLE 16MM2 & E/M ACCESSORIES ETC AT (I.B.PUMP HOUSE) COD HILLS

MINUTES OF BID OPENING MEETING.

A meeting of the procurement committee of this department was held on 11-01-2018 for opening the bids received in respect of subject NIT till deadlines of submission. The meeting was attended by all / following members of the procurement committee and the representative of bidders.

(Attendance sheet is enclosed).

- Two bidders submitted their bids till the deadline of submission.
 - M/s. Yasin Enterprises
 - M/s. Serena Enterprises ii.
- The bids were opened at 2:30 P.M in the presence of the above mentioned participants and the rates quoted by bidders were read aloud and encircled by Chairman of the Procurement Committee.

S. No	Name of Firm	Quoted Price	Amount of Bid Security	Pay Order No. / Date
1.	M/s.Yasin Enterprises	Rs.9,30,695/-	Rs.18,700/-	P.O # 04120873 dt:11-01-2018 from Bank Al Habib Ltd Gulshan Block-2 Branch Karachi.
2.	M/s.Serena Enterprises	Rs.9,32,766/-	Rs.20.000/-	P.O # 50617208 dt:09-01-2018 from Summit Bank Gulshan-e-Iqbal (2) Branch Karachi.

- 4. The bids do not contain any cutting or over-writing.
- The committee shall examine all the bids as per the qualification / eligibility criteria provided in the bidding document and verify the documents and bid security submitted by the bidders (if required).

The meeting ended with the vote of thanks to and from the chair. 6.

A.O (C.O.D)

Member / Secretary

(Saif-ul-Haque) Additional Director Internal Audit - KMC Member

(Magsood Ahmed Shaikh) Superintending Engineer (KMC) Member

(Zahid Jamil Qureshi)

S.E (C.O.D) Member

(Saifuddin) Director (Design & Estimate)



KARACHI WATER & SEWERAGE BOARD

OFFICE OF THE DIRECTOR (DESIGN & ESTIMATE) BID EVALUATION REPORT

1	Name of Procuring Agency:	KARACHI WATER & SEWERAGE BOARD
2	Tender Reference No:	SPPRA Serial No.35822 I.D No
3	Tender Description/Name of Work/Item:	P/F 3" DIA BLACK STEEL PIPE MFG OF PUMPS REWINDING ELECTRICAL MOTORS I/C STAR / DELTA STARTER WITH 4 CORE CABLE 16MM2 & E/M ACCESSORIES ETC AT (I.B.PUMP HOUSE) COD HILLS
4	Method of Procurement:	Single Stage (One Envelop)
5	Tender Published:	Through SPPRA Web Site
6	Total Bid Documents Sold:	2 Nos
7	Total Bid Received:	2 Nos
8	Technical Bid Opening Date (if applicable):	N/A
9	No. of Bid Technically Qualified (if applicable)	N/A
10	Bid (s) Rejected:	NIL
11	Financial Bid Opening Date:	11-01-2018

12 BID EVALUATION REPORT

S #	Name of Firm / Bidder	COST OFFERED BY THE BIDDERS	RANKING IN TERMS OF COST	COMPARISO N WITH ESTIMATED COST	REASON FOR ACCEPTANCE / REJECTION	REMARKS
1	M/s. Yasin Enterprises	Rs.9,30,659/-	I st Lowest	@3.557% Above	P.O and required documents are available. P.O # 04120873 dt:11-01- 2018 Rs.18,700/- from Bank Al Habib Ltd Gulshan Block-2 Branch Karachi.	Responsive
2	M/s.Serena Enterprises	Rs.9,32,766/-	2 nd Lowest	@3.791% Above	P.O and required documents are available. P.O # 50617208 dt:09-01-2018 Rs.20,000/-from Summit Bank Gulshan-e-lqbal (2) Branch Karachi.	Substantially Responsive

The all concerned bidders are being informed accordingly.

The E.E Concerned for compliance of Rule-45 of SPPR 2010 M/s.Yasin Enterprises declared as the lowest responsive bidder by the Committee and recommended for sanction from Competent Authority.

(Zafar Alymed) D.A.O (C.O.D) Member / Secretary (Saif-ul-Haque) Additional Director Internal Audit – KMC Member (Maqsodd Ahmed Shaikh) Superintending Engineer (KMC) Member

(Zahid Jamil Qureshi) S.E (C.O.D)

Member

(Saifuddin)

Director (Design & Estimate)

COMPARATIVE STATEMENT

, Name of Work: P/F 3" DIA BLACK STEEL PIPE MFG OF PUMPS REWINDING ELECTRICAL MOTORS I/C STAR / DELTA STARTER WITH 4 CORE CABLE 16MM2 & E/M ACCESSORIES ETC AT (I.B.PUMP HOUSE) COD HILLS

Item No	Description of Work		Estimated Cost				M/s.Yasin Enterprises		M/s.Serena Enterprises	
180		Quant	tity	Rate	Per	Amount	Rate	Amount	Rate	Amount
1	Rewinding of electrical motor 3 phase 400/440 volts 50					W Ber				H
	cycles with best quality insolated copper wire of required							l l		
	gauage including testing on load with satisfactory result upto									-
	one weeks time opening and refitting and replacing the bolts									
	if necessary excluding the cost of warn out material. 20 HP	4.00	Nos	19825.00	Each	79,300.00	19820.00	79,280.00	19823.00	79,292.00
2	Providing star / delta 20 HP 50 Amp 3 Phase 440 volts									
	national or equivalent.	4.00	Nos	26000.00	Each	104,000.00	28600.00	114,400.00	28620.00	114,480.00
3	P/L (Main or Sub-Main) PVC insulated & PVC sheeted with									
	4 core copper conduct 600/1000 16mm2.	47.00	Mtrs	1300.00	P/Mtr	61,100.00	1299.00	61,053.00	1303.00	61,241.00
4	Providing and fixing circuit breaker 15-20-30-40-50-60-75					F				
	and 100 amp TP (XS-100S) on prepared baord as required.	4.00	Nos	9261.00	Each	37,044.00	9260.00	37,040.00	9262.00	37,048.00
5	Mfg. complete over hauling centrifugal water pressure pump									
	2"x 2 1/2" dia KSB Pump section and delivery dia with pum									
	housing bearing 6305 new ball bearing 6305 impeller bronze									
eio u u	pump shaft S.S MS coupling 6" dia MS bas frame with nut									L-
	and bolt and rubber kit complete job etc.	4.00	Nos	18160.00	Each	72,640.00	19976.00	79,904.00	19980.00	79,920.00
6	Mfg. complete over hauling centrifugal water pressure pump									
	3"x 2 1/2" dia KSB Pump section and delivery dia with pum					1				
	housing bearing 6305 new ball bearing 6305 impeller bronze									
	pump shaft S.S MS coupling 6" dia MS bas frame with nut									
	and bolt and rubber kit complete job etc.	4.00	Nos	36120.00	Each	144,480.00	39732.00	158,928.00	39735.00	158,940.00
7	Manufacturing & fixing black steel M.S pipe made out of					100				
	M.S sheet conforming API 5L grade X-42 & externally									
	asphalt coated with fiber galss 5mm thick & internally C.C					121				
	lining 8mm thick (AWWA Specification) i/c laying jointing									
	with helical welding in trenches i/c cost of bends of any									
	degree & testing with water specified pressure for different									
	dia of pipes as below (straight). a) 3" Dia	270.00	Rft	746.53	P/Rft	201,563.10	746.50	201,555.00	748.00	201,960.00
	b)-4" Dia	130.00	Rft	855.29	P/Rft	111,187.70	855.20	111,176.00	858.00	111,540.00

WH =

W.

Davis Im

Name of Work: P/F 3" DIA BLACK STEEL PIPE MFG OF PUMPS REWINDING ELECTRICAL MOTORS I/C STAR / DELTA STARTER WITH 4 CORE CABLE 16MM2 & E/M ACCESSORIES ETC AT (I.B.PUMP HOUSE) COD HILLS

Item No	Description of Work	Estimated Cost						.Yasin =		Serena rprises
140		Quant	ity	Rate	Per	Amount	Rate	Amount	Rate	Amount
8	Providing & laying UPVC pressure Pipes of Class "D" (equivalent make) fixing in trenches i/c cutting, fitting and jointing with (Z) joint with one rubber ring i/c testing with									
	water to head 122 meter or 400ft. 50 MM 2" Dia	245.00	Rft	66.00	P/Rft	16,170.00	66.00	16,170.00	69.00	16,905.00
9	Providing gun metal gate valve 3" dia (Heavy)	4.00	Nos	1750.00	Each	7,000.00	1750.00	7,000.00	1752.00	7,008.00
10	Providing gun metal gate valve 2 1/2" dia (Heavy)	4.00	Nos	1100.00	Each	4,400.00	1095.00	4,380.00	1097.00	4,388.00
11	Providing Foot Valve 4" dia (heavy)	4.00	Nos	893.75	Each	3,575.00	893.00	3,572.00	895.00	3,580.00
12	Providing Foot Valve 3" dia (heavy)	4.00	Nos	731.25	Each	2,925.00	731.00	2,924.00	733.00	2,932.00
13	Providing & laying UPVC pressure Pipes of Class "D" (equivalent make) fixing in trenches i/c cutting, fitting and jointing with (Z) joint with one rubber ring i/c testing with water to head 122 meter or 400ft. (e) 80 MM 3" Dia	230.00	Rft	137.00	P/Rft	31,510.00	136.90	31,487.00	138.00	31,740.00
	Dismantling and re-fixing of 4 Nos 2" x 2 1/2" dia pressure pump and 4 Nos 3" x 2 1/2" dia water pressure pump i/c transportation charges.	1.00	Job	21800.00	P/Job	21,800.00		21,790.00	21792.00	21,792.00
e e	TOTAL QUOTED / CORRECTED COST					898,695		930,659		932,766

(Zafar Ahmed) D.A.O (C.O.D)

Member / Secretary

(Saif-ul-Haque) Additional Director Internal Audit - KMC Member

(Maqsood Ahmed Shaikh) Superintending Engineer (KMC)

Member

(Zahim Jamil Qureshi)

S.E (C.O.D)

Member

Director (Design & Estimate)

ATTENDANCE REPORT

NAME OF WORK: - P/F 3" Sia block Steel pipe MFG of Pups no	udiy
c. E/M aussories etc at (1. B. Dus hase) CoDT	410

DATE OF OPENING:- 11-01-2078

The following competitor have participated in the competition of the subjected work:-

S.NO	NAME OF CONTRACTOR	SIGNATURE "
01.	TASIN (missol).	1 Juny
02.	Gerene Ente prise	Cest
03.		
04.		